Revision Exercise (Sequences)

a) 2 x 39 or 2324522934

b) 24576
c) 12

a)lgz —lgy =1gy —

6.

d) 84

e) —85

f) No

c) 3183

d) 10100

d) 10

e) 16

f) 21
e) (i) -2

c) 789.309 e) (iii) 100
—5.9999 e) (iv) 2

£) @) 5
b) (z +y)

a) S, =n?+ 9n. Minimum number of terms required is 28.

b) S, = 2n?

7.

a)a=2,d=3,T,=2+(n—-1)3=3n—-1,5,=5(2(2) +(n—-1)3) =
b) Tyo = 119, S, = 2420

c) 1810

+ gn Minimum number of terms required is 63.

g) T16 = 77, T20 =97

h) —1
i) 51

e) 10000
f) 915

sn(3n+1)



8.
Salary for year 2020 = $100000
Salary from 2000 to 2019 inclusive = $1475000

9.

a)n > 2124 =n =22 b) n > 27.86 = n = 28
10.

a)a:17,b:24 C)a:07b:6,515:210
b)a=-2,b=10 d)a=1,b=8, Sg =255
11.

a) Geometric Progression with r = 1
b) Tho = 512

c) Sz = 2255 or 5.9985

= 0 (Trivial case) and r = 3

a) 5100 b) 8200 c) 338 d) 1125 e) 125001

a)3+3+3+3+3+3

b) 5(3) +5(4) + 5(5) + 5(6)

) (P+1D)+ 22+ 1)+ (F+1)+ @2 +1)+B2+1)+(62+ 1)+ (7> +1)
d) 5+2)+6+&)+(T+2)+B+2)+0O+F)+(10+ )
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e) 224+ 33 +43 + 5%+ 63+ 734 &3

f) 292 + 312 4 33% + 352

g) —1+2-34+4-5

h) (1)* = (2)° + (3)* = (4)* + (5)?
i)2—-3+4—-5+6—-T7+38
)2+0+2+0+2+0

k) 04140410

1

1) s1n( ) + sm( ) + sm(—g) + sm(—g) + sm(—D + sm(2—75r)

16.

17.

a) 6000 ¢) 2550

b) 2485 d) 2600

18.

a) 69.83 cm b) 15™ swing
19.

a) 5.324 m b) 16 times
20.

Choose Package 1.
Package 1 earns $1400000.

Package 2 earns $1375000.
Package 3 earns $1052924.
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g) 1550
h) 2604

d) 2000 cm

d) 148 m



